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Choose the correct answer:
Choose the one that does not apply among the following.

ST w [ e[ el 9

4 3 : ’ ; : ;
If [_2 x] ie a zero matrix, then the value of x a). % . b)~—% . ¢)8. d) _2'

13 -2 ' ' .
IfFA+1= [ ] then (A+D)(A=T) is equal to

4 1
: -5 -4 -5 4 5 4 - : “[-5 -4
o [7 5] wfRd]  elad] ©oe [l
If o, B, y then . Direction cosines cos?a + cos?p + cos 1ieT
a) 1 ‘b) 2 A c)0 - : d) -2
If the points whose position vectors 10i +3] 12i-5]j and ai +11j are colhnear then a,
is equal to ~a) b6 b)3 c)5 d) 8
Find.|axb| where |a|=13, |b| 5and 3. b=60°=
a) 15 : b) 35 : c) 45 : d) 25

A vector makes equal to angle with the positive dlrectlon of the coordmate axes. Then

- each angle is equal to

o) o) o) e (/r)

' Lim aa%i=b% G ?) % b)-log(ﬁ-) )log(g - a

X—=@ T
: Part - Il R
- 6x2=12

4 :
If A=[ ] and such that (A -2I) (A=3I)=0, fnd the value of x.

Define Diagonal matrix and Scalar matrix.

1 -204 g ‘
' Show that the pomts whose posmon vectors are 2| +3] 5k 3| + j —2k and 6] = 5, +7k

7\._

b» 112493 :
1721 snngular matrix, find the value of b

are collinear. :
Find a unit vector along the dlrectlon of the vector 5] — 3j +4k -
Find the area of tnangle whose vertices are A(1,0,0) B(0,1,0) C(0,0,1).

" Consider the function f(x) Jx ., x=0. Does L'm f(x) exist?
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VaUET " 023 2026 0o ' | ,
Part - Il
Answer any 5 questions. (Q.No.23 is compulsory) . 5x3=15
I :
" Prove that : X Y z =(X—y)(y—X)(Z—X)
. . 2 2 2 : - . ,'
X< LY
If 3,b,¢ are three vectors such that 5+25;5;o and |a|=3, |b}=4, |E|=7, find the

angle between 3 and p

To prove : If any two rows / columns of adeterminant are lnterchanged then the determmant %
changes sign but its absolute value remains unaltered.

3 4 1
'By using Sarrus Rule, find |A| ={0 -1 2
5§ -2 6
To prove Section formula - Internal dlwsron
Lim /x+2 J_
Evaluate : X0 i T

Find the prOJectron of AB AB ©°N CD where AB,C,D are the pomts (4 —3 0) (7 -5,— 1) '
(—21 3), (025) " ; ;

: - Part-IV i b 5
Answer all the questions. : ) ¢ TUET : 3x5=15
(3 73 1], _ : TR
a)‘-';Expressthe matnxA‘ 'i '7: ; -as the sum ofa Symmetricand s}k‘ew-'s'ymmetric 5
matrix. (OR) N P s o

e b)’-Compute all minors, cofactor ofA and hence compute ]A] rf NS4 55,50 .Also - -

- 25.

26.

[=3&56 2
check that |A] remains unaltered by expandlng along any row or any column
a) To prove by using Factors theorem

, (qur)2 p22_ pj 3
Al= i 2= 3
|Al=| q (r+p) q 2pqr(p+q+r) . (OR)

& 2 (p+q)?

_b) -Show that the vectors -are coplanar : “i-2j+3k, —2i+3j-4k., -] + 2k

a) Prove that the pomts whose posmon vectors 2|+4j+3k 4l+j+9k and

: 10i - j+6k froma nght angle tnangle " (OR)' .
b). The medians of a triangle are concurrent. i
- **mi*A
- 6 .| - i 3 ) ,. N Y 5 .
¥y o L
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